KFR60 KFR90 KFR115 KFR140 KFR160

KFR R 3 E.A ) IRAT B I«

BASREEE . mirk, @ik, mace. s, Sk ar, IR RIR30. IRy, (RiRTh. SMHESE,
SRR BT RS e A AR A S AR A IR T Ak . R R Tk AP Tk L W T AT 4 i
Lokt . WG T AR W THNG KB RO, W AR Bk @)l B, =38 =L
P17 B B850 R, RUREERG. AMK. 0 o sss,

KFR R 3 E.A ] IRAT B A -

NAF G B, 54> KFR60. KFR90. KFR115. KFR140. KFR160FLJEZY S, itk: 371004520
FLE T RE R 73— UL KGR . — AL SR BEAE6- 12905y, AL BIRS BEAES- 159143, 45008 Fh
B o

L B

fal MR kAL ) B e e e B AT AN R AR IR IA b, T N T SRR B R I Tk AT . e EDRIALIR
SR BORIEL UK. TAMWR, Ras. g, T AL FE ik eI = 5
Ak,

PERB AT A -

KFR 2 51 15 A ) AT LS4 T e L, IR T2, e ibs L B dm KAt ZEfm e bl it i F
b REET BRI RIS, HE I E A ], B G ERA TR, sk, i N
RN, BECPIE, KM SRR, SN R BT N o A A B o S (R, R OGIR wR A
it #AT LA 4B R E 2 i o, JF H A TPesIERIAREE, DRIk CAEFRBE 22 i IR T

.
KFR60-3 KFR60-4 KFR60-5 KFR60-6 KFR60-8 KFR60-10

KFR90-3 KFR90-4 KFR90-5 KFR90-6 KFR90-8 KFR90-10

KFR115-3 KFR115-4 KFR115-5 KFR115-6 KFR115-8 KFR115-10

KFR140-3 KFR140-4 KFR140-5 KFR140-6 KFR140-8 KFR140-10

KFR160-3 KFR160-4 KFR160-5 KFR160-6 KFR160-8 KFR160-10

—r P

KFR60-9 KFR60—12 KFR60-15 KFR60-16 KFR60-20 KFR60-25 KFR60-30 KFR60-32 KFR60—36 KFR60-40 KFR60—48
KFR60-50 KFR60-64 KFR60-100

KFR90-9 KFR90-12 KFR90-15 KFRI0-16 KFR90-20 KFR90-25 KFR90O-30 KFR90-32 KFR90-36 KFR90-40 KFR90-48
KFR90-50 KFR90-64 KFR90-100

KFR115-9 KFR115-12 KFR115-15 KFR115-16 KFR115-20 KFR115-25 KFR115-30 KFR115-32 KFR115-36
KFR115-40 KFR115-48 KFR115-50 KFR115-64 KFR115-100

KFR140-9 KFR140-12 KFR140-15 KFR140-16 KFR140-20 KFR140-25 KFR140-30 KFR140-32 KFR140-36
KFR140-40 KFR140-48 KFR140-50 KFR140-64 KFR140-100

KFR160-9 KFR160-12 KFR160-15 KFR160-16 KFR160-20 KFR160-25 KFR160-30 KFR160-32 KFR160-36
KFR160-40 KFR160-48 KFR160-50 KFR160-64 KFR160-100



5B
" KFR40 | KFR60 & KFR90 | KFR115 | KFR140 KFR160
R 12 1 2 1i2 12 1121 2
A
) wHEP IR 45 60 90 120 145 175
A
. HiE 40 60 80 115 140 162
B | B 3 5 6 8 10 12
C @ #w 11.2 16 22.5 28 35 43
D AL A [ 34 52 70 100 120 145
E | 2Rl 4Xp3.5 | 4Xg5.5 | 4X@6.5 | 4X@8.5 | 4Xell 4Xp13
" F i e he) 10 14 20 25 32 40
;
mj G el 26 40 80 110 120 130
" (h7)
e SIS M4X10 | M5X10 | M6X12 | MI0X22 | M12X25 M12X25
i T B3 b P 2.5 2.5 4 5 6 8
‘ J oK 15 25 25 40 55 65
K | K caepnED 23 30 36 50 70 80
o s 36 50 44 50 | 60 77 | 65 e | 78 10 | 94 L33
6.5 .3 5.5 8 .5
MoK CHRTHD 26 35 40 55 75 85
N i e R 2 3 3 4 5 5
Vo Ak RE 6 8 10 14 15 15
BN E: 0 Py Qy Ry Sy XL YL Z
KFR % £ gL vk e 2 4L
_— B | yki#E | KFR4 . KFR | KFR9 . KFR | KFR1 CFRIGO
g4 t 0 60 0 115 ¢ 40
3 17 28 8 | 115 = 210 400
4 20 44 120 260 @ 450 800
5 18 40 110 | 230 = 400 700
! 6 - 25 75 200 @ 260 650
8 6 18 © 50 120 : 210 450
0E i HHALAE (Nim) 10 - 15 © 32 100 | 130 305
9 17 28 ¢ 8 125 . 210 400
12 20 44 ¢ 120 ¢ 260 | 450 800
2 15 18 | 40 | 110 © 230 : 400 700
16 20 44 ¢ 120 ¢ 260 | 450 800
20 20 44 ¢ 120 ¢ 260 450 800




25 18 40 | 110 | 230 | 400 700
30 - 40 ¢ 110 | 230 | 260 700
32 20 44 1 120 | 260 | 450 800
36 - 25 75 200 260 650
40 20 40 © 110 | 230 © 400 700
48 - 25 75 200 i 260 650
50 18 40 © 110 | 230 © 300 700
64 6 18 50 © 120 ¢ 210 450
100 - 15 32 100 ¢ 130 305
e K AT LA 3~ N
1,2 1. 5% e HlAE
(Nm) 100
P 457 1L LA 3~ N
1,2 24550 e HAH
(Nm) 100
, 3~ 1,2 | 2,25
I REH ) (N) 1,2 185 | 265 i 400 3, 700
100 40 0
3~ 1,0 i 1,50
R () 1,2 150 © 220 @ 420 3, 500
100 00 0
ik 3~
1,2 0.7 1.8 : 4.8 i 11 22 35
(Nm/arcmin) 100
e K S N 3~ 10,0 80 6,00 6,0 : 4,50
1,2 4,500
(rpm) 100 ¢ 00 00 0 00 0
e i NI 3~ 14,50 4,0 3,50 3,0 3,00
1,2 3, 000
(rpm) 100 0 00 0 00 0
3~
2% (dB) 1,2 <60 | <61 | <63 | <68 | <70 <75
100
3~
1 0 0.51 1.7 | 4.4 : 12 17 26.5
fie (kg .
2 0.61 : 1.9 5 14 19 29.6
100
3/-\/
Ty Far (h) 1,2 20, 000
100
g BN
W (%) 1,2 100 1BE>96% 2B>94%
3/-\/
1 - - <5 <5 <5 <5
10
PO
9/-\/
2 - - <7 <7 <7 <7
100
R 3~
1 <16 | <7 <7 <7 <7 <7
(arcmin) 10
P1
gf\/
2 <18 | <9 <9 <9 <9 <9
100
BN
P2 1 0 <22 <16 : <10 | <10 | <10 <10




9N
2 <26 <18 | <lI2 | <l2 | <I2 <12
100
KFR 47 A2 Yl s ML % 3158 2
Bt ik KFR11 | KFR14
A% g KFR40 : KFR60 : KFR90 KFR160
Al 4 5 0
3 0.031 : 0.135 | 0.77 2.63 5.83 12. 14
4 0.022 : 0.093 | 0.52 1.79 3.21 7.78
| 5 0.019 : 0.078 | 0.45 1.53 3.1 6.07
6 0.018 : 0.075 : 0.42 1.4 2.85 5. 24
8 0.017 : 0.065 i 0.39 1.3 2.1 4.63
B 10 | 0.016 : 0.063 : 0.39 1.28 1.95 4.6
R E
15  0.015 : 0.039 | 0.72 2.4 3.35 7.47
(kgem?)
20 © 0.007 i 0.049 | 0.35 1.6 2.73 6.95
25 0.007 | 0.039 | 0.25 1.4 2.25 6. 65
2 32 1 0.007 | 0.038 i 0.18 1.4 2.25 5.81
40 0.005 : 0.027 i 0.18 1.3 2.25 5.81
64 : 0.005 i 0.027 : 0.16 1.3 2.25 5.28
100 : 0.005 | 0.025 | 0.16 1.3 2.25 5.28

Fii%: 021-60521714
2. 021-69577328
FHL: 15026720952
QQ5: 1914237177

ME4E: jiansujichina@126. com
Mk: http://www. shbide. com
s BHERUE R SLIE A R A A

BER N V7SO

Mk BT E XA X B R 2 B 500057




